
MATHS

BOOKS - BETTER CHOICE PUBLICATION

INVERSE TRIGONOMETRIC FUNCTIONS

Solved Examples Section I Mcq

1. The value of  is

A. 

B. 

sin− 1 x + cos − 1 x

π

2

π

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jqn7MzGYNUSj


C. 

D. 

Answer: A

Watch Video Solution

−
π

2

−π

2. The value of  is equal to

A. 1

B. 0

C. 

D. 

cos(sin− 1 x + cos − 1 x)

−
π

2

π

2

https://dl.doubtnut.com/l/_jqn7MzGYNUSj
https://dl.doubtnut.com/l/_XReI3oKzRCY4


Answer: B

Watch Video Solution

3.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1(cos )
7π

6

7π

6

5π

6

π

3

π

6

https://dl.doubtnut.com/l/_XReI3oKzRCY4
https://dl.doubtnut.com/l/_idlC0ntEgV8D


4.  is equal to

A. 

B. 

C. 0

D. 

Answer: B

Watch Video Solution

tan− 1 √3 − cot − 1( − √3)

π

−
π

2

2√3

5. Domain of the function  is equal tof(x) = sin− 1 x

https://dl.doubtnut.com/l/_idlC0ntEgV8D
https://dl.doubtnut.com/l/_D6BtTtYZCWaq
https://dl.doubtnut.com/l/_bGPRtX6W2pwd


A. 

B. R

C. 

D. none of these

Answer: C

Watch Video Solution

[0, 1]

[ − 1, 1]

6. , then value of x equals

A. 

B. 

sin− 1( ) + cos − x =
1

5

π

2

1

4

1

5

https://dl.doubtnut.com/l/_bGPRtX6W2pwd
https://dl.doubtnut.com/l/_YYsP7TczjuBb


C. 

D. 

Answer: B

Watch Video Solution

1

9

1

2

7. The value of  is

A. 

B. 

C. 

D. 1

sin( − sin− 1( − ))
π

3

1

2

1

2

1

3

1

4

https://dl.doubtnut.com/l/_YYsP7TczjuBb
https://dl.doubtnut.com/l/_ZNq5czgcYnxI


Answer: D

Watch Video Solution

8. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot(sin− 1 x)

√1 + x2

x

x

√1 + x2

1

x

√1 − x
2

x

https://dl.doubtnut.com/l/_ZNq5czgcYnxI
https://dl.doubtnut.com/l/_zZaWz6mb9hxs


Solved Examples Short Answer Type Questions Section Ii

1. Find the principal value of 

Watch Video Solution

cos − 1( − )
1

2

2. Find the principal value of 

Watch Video Solution

cos ec− 1(2)

3. Find the principal value of 

h id l i

sin− 1( − )
√3

2

https://dl.doubtnut.com/l/_zZaWz6mb9hxs
https://dl.doubtnut.com/l/_su0IG4IpGZNK
https://dl.doubtnut.com/l/_PCMMMMzOKys3
https://dl.doubtnut.com/l/_Yg81ACQOawl6


Watch Video Solution

4. Find the values of

Watch Video Solution

tan− 1(1) + cos − 1( − ) + sin− 1( − )
1

2

1

2

5. Find the value of .

Watch Video Solution

cos − 1( ) + 2 sin− 1( )
1

2

1

2

6. Find the value of 

Watch Video Solution

sin− 1(sin )
2π

3

https://dl.doubtnut.com/l/_Yg81ACQOawl6
https://dl.doubtnut.com/l/_I51vb7MeldX4
https://dl.doubtnut.com/l/_oejRSychZ6h2
https://dl.doubtnut.com/l/_U1Ir5AquIU83


Solved Examples Section Iii

7. Find the value of 

Watch Video Solution

tan− 1(tan )
3π

4

8. Find the value of 

Watch Video Solution

cos − 1(cos )
13π

6

https://dl.doubtnut.com/l/_U1Ir5AquIU83
https://dl.doubtnut.com/l/_QrHYCSDVjOlp
https://dl.doubtnut.com/l/_Fimoz1pn8q4d


1. prove that

.

Watch Video Solution

3 sin− 1 x = sin− 1(3x − 4x3), x ∈ [ , ]
−1

2

1

2

2. Prove that .

Watch Video Solution

tan− 1 + tan− 1 = tan− 12

11
7
24

1

2

3. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = sin− 11

2

2

11

1

2
24

25

https://dl.doubtnut.com/l/_7jRQYDP4PNk0
https://dl.doubtnut.com/l/_GNGToSztR8o4
https://dl.doubtnut.com/l/_XCLf4nQ5Bltn
https://dl.doubtnut.com/l/_ECeIIJQ6jB3y


4. Prove that 

Watch Video Solution

tan− 1 + tan− 1 =
3

4

4

3

π

2

5. Prove that 

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11
2

1

7

31

17

6. Prove that

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + tan− 1 =
1

5

1

7

1

3

1

8

π

4

https://dl.doubtnut.com/l/_ECeIIJQ6jB3y
https://dl.doubtnut.com/l/_82MSTthO9IHf
https://dl.doubtnut.com/l/_Y72YbmcIm96q


7. Prove that :

Watch Video Solution

cos − 1( ) + cos − 1( ) = cos − 1( )
4
5

12

13

33

65

8. Prove that 

Watch Video Solution

tan− 1 = sin− 1 + cos − 163

16

5

13

3

5

9. Show that 

Watch Video Solution

sin− 1 − sin− 1 = cos − 13

5

8

17

84

85

https://dl.doubtnut.com/l/_Za6pNd2MWIdN
https://dl.doubtnut.com/l/_3KuIoWTuVPWq
https://dl.doubtnut.com/l/_yUGVB9sF6XKt


Solved Examples Section Iv

1. Solve :

Watch Video Solution

tan− 1(x + 2) + tan− 1(x − 2) = tan− 1 , x > 0
4
19

2. If  then

find the value of x

Watch Video Solution

tan− 1( ) + tan− 1( ) = ,
x − 1

x − 2

x + 1

x + 2

π

4

https://dl.doubtnut.com/l/_eQKLqOBqJj9p
https://dl.doubtnut.com/l/_tuQEV8oDpiaY


3. Solve the equation 

Watch Video Solution

tan− 1 2x + tan− 1 3x = , x > 0
π

4

4. Solve the Equation :

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( − 7)
x + 1

x − 1

x − 1

x

5. If , then find the

value of x.

W t h Vid S l ti

cos(sin− 1 + cos − 1 x) = 0
2

3

https://dl.doubtnut.com/l/_icOlezjcjiiu
https://dl.doubtnut.com/l/_ABSNDoqFswGZ
https://dl.doubtnut.com/l/_I2iHzzUkgTgp


Solved Examples Section V

Watch Video Solution

6. Solve the equation

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

1. Prove that .

Watch Video Solution

tan− 1( ) = sin− 1 x
x

1 + √1 − x2

1

2

https://dl.doubtnut.com/l/_I2iHzzUkgTgp
https://dl.doubtnut.com/l/_nIgCjoFNl7vI
https://dl.doubtnut.com/l/_BgTuQqBHxo20


2. Prove that :

Watch Video Solution

tan− 1[ ] = − cos − 1 x
√1 + x − √1 − x

√1 + x + √1 − x

π

4

1

2

3. Write  in simplest form.

Watch Video Solution

tan− 1( )
x

√a2 − x2

4. Write  simplest

form.

Watch Video Solution

tan− 1( ), x ≠ 0
√1 + x2 − 1

x

https://dl.doubtnut.com/l/_cm2EzzXq7yAq
https://dl.doubtnut.com/l/_TCfL8JVbROtq
https://dl.doubtnut.com/l/_CmRYwvL3COhV


Assignment Most Important Questions For Practice

Section I Mcq

Watch Video Solution

1. Principal value of 

is (a)  (b)  (c)  (d)none of these

A. 

B. 

C. 

D. none of these

Answer: A

sin− 1( − ) + cos − 1( − )
1

2

1

2
π

2
−

π

2

3π

2

π

2

−
π

2

3π

2

https://dl.doubtnut.com/l/_CmRYwvL3COhV
https://dl.doubtnut.com/l/_kWRUzb19QXGT


Watch Video Solution

2. The principal value of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

tan− 1(tan )
2π

3

2π

3

−
π

3

5π

3

https://dl.doubtnut.com/l/_kWRUzb19QXGT
https://dl.doubtnut.com/l/_N0TFfp3AtgrG


3.  is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( ) − tan− 1( )
x

y

x − y

x + y

π

2

π

3

π

4

−
3π

3

4. The value of  issin− 1(cos )
43π

5

https://dl.doubtnut.com/l/_cqkJhID9cPCn
https://dl.doubtnut.com/l/_MaIqscOHIKgp


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3π

5

−7π

5

π

10

−π

10

5.  is equal to :

A. 

B. 

sin(tan− 1 x), |x| < 1

x

√1 − x2

1

√1 − x2

https://dl.doubtnut.com/l/_MaIqscOHIKgp
https://dl.doubtnut.com/l/_aIztl8BMcWj8


Assignment Most Important Questions For Practice

Section Ii Short Answer Type Questions

C. 

D. 

Answer:

Watch Video Solution

1

√1 + x2

x

√1 + x2

1. Find the principal value of following 

Watch Video Solution

tan− 1( − 1)

https://dl.doubtnut.com/l/_aIztl8BMcWj8
https://dl.doubtnut.com/l/_INf9jX3yDFJn


2. Find the principal value of following 

Watch Video Solution

cos − 1( − )
√3

2

3. Find the principal value of following 

Watch Video Solution

sec− 1( − 2)

4. Find the principal value of following 

cos − 1( ) − 2 sin− 1( − )
1

2

1

2

https://dl.doubtnut.com/l/_Unr626LUkIh0
https://dl.doubtnut.com/l/_PvxmET0BWpOD
https://dl.doubtnut.com/l/_TkvKTlMbOTo9


Watch Video Solution

5. Find the principal value of following 

Watch Video Solution

tan− 1( − √3) + tan− 1(1)

6. Find the principal value of following 

Watch Video Solution

tan− 1( − ) + cos − 1( − ) + sin− 1( )
1

√3

√3

2

1

2

https://dl.doubtnut.com/l/_TkvKTlMbOTo9
https://dl.doubtnut.com/l/_klBHfypVcsT8
https://dl.doubtnut.com/l/_uc4KhdsF1dGq


7. Find the value of following 

Watch Video Solution

sin− 1(sin )
4π

3

8. Find the value of following 

Watch Video Solution

tan− 1(tan )
9π

8

9. Find the value of the following: 

Watch Video Solution

tan− 1(tan(7 ))
π

6

https://dl.doubtnut.com/l/_jCrBVUE013UM
https://dl.doubtnut.com/l/_4lYq4xI2AYcT
https://dl.doubtnut.com/l/_rbv70bX8j0gK


10. Find the value of following 

Watch Video Solution

cos( + sin− 1( ))
π

2

1

3

11. Using principal values, find the value of following 

Watch Video Solution

cos − 1(cos ) + sin− 1(sin )
2π

3

2π

3

12. Using principal values, find the value of following 

tan− 1 1 + sin− 1( − )
1
2

https://dl.doubtnut.com/l/_rbv70bX8j0gK
https://dl.doubtnut.com/l/_qMGxine3hQdf
https://dl.doubtnut.com/l/_1hCZFT5FKmoP
https://dl.doubtnut.com/l/_O8PHVmeSLjQj


Assignment Most Important Questions For Practice

Section Iii

Watch Video Solution

13. Using principal values, find the value of following 

Watch Video Solution

cos − 1 + cos − 1( − )
√3

2

1

2

1. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = tan− 11

7

1

13

2

9

https://dl.doubtnut.com/l/_O8PHVmeSLjQj
https://dl.doubtnut.com/l/_Zyqc9Nj5cmfg
https://dl.doubtnut.com/l/_4RxpH06wP941


2. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = tan− 11

2

2

11

3

4

3. Prove that 

Watch Video Solution

tan− 1 + tan− 1 − tan− 1 =
3

4

3

5

8

19

π

4

4. Prove that 

tan− 1 + tan− 1 + tan− 1 =
1

2

1

5

1

8

π

4

https://dl.doubtnut.com/l/_4RxpH06wP941
https://dl.doubtnut.com/l/_qTeYF7Bk5ojK
https://dl.doubtnut.com/l/_7dUTdidzUzpC
https://dl.doubtnut.com/l/_em80wMdi0ZIl


Watch Video Solution

5. Prove that 

Watch Video Solution

2 tan− 1 − tan− 1 =
3

4
17
31

π

4

6. Prove that 

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11

5

1

4

32

43

https://dl.doubtnut.com/l/_em80wMdi0ZIl
https://dl.doubtnut.com/l/_gpmU0e0S2GgA
https://dl.doubtnut.com/l/_DlmyLSSd8ISy


7. Prove that 

Watch Video Solution

cos − 1 + cos − 1 = tan− 112

13
4
3

56

33

8. Prove that 

Watch Video Solution

sin− 1 + cos − 1 = sin− 15

13

3

5

63

65

9. Prove that 

Watch Video Solution

sin− 1 + sin− 1 = tan− 18

17

3

5

77

36

https://dl.doubtnut.com/l/_mh9AiNsU4dlY
https://dl.doubtnut.com/l/_RVUDVwtULFhg
https://dl.doubtnut.com/l/_4WJ1duFJsJP2


Assignment Most Important Questions For Practice

Section Iv

Watch Video Solution

10. Prove that 

Watch Video Solution

2 sin− 1 = tan− 13

5

24

7

1. Solve the following equations 

Watch Video Solution

tan− 1(x + 2) + tan− 1(x − 2) = tan− 1 8

79

https://dl.doubtnut.com/l/_4WJ1duFJsJP2
https://dl.doubtnut.com/l/_1cOt5TGcYkB2
https://dl.doubtnut.com/l/_BtBxS0Qd5X76


2. Solve the following equations 

Watch Video Solution

tan− 1( ) = + tan− 1 x
1 + x

1 − x

π

4

3. Solve the following equations 

Watch Video Solution

tan− 1 + cot − 1 =
2x

1 − x2

1 − x2

2x

π

3

4. Solve the following equations 

W t h Vid S l ti

tan− 1 x + 2 cot − 1 x =
2π

3

https://dl.doubtnut.com/l/_VBmNOZPXJ90t
https://dl.doubtnut.com/l/_5mdWeCLjj0kp
https://dl.doubtnut.com/l/_ykpx7LXBgVMl


Watch Video Solution

5. Solve the following equations 

Watch Video Solution

cos − 1 x + sin− 1 =
x

2

π

6

6. Solve the following equations 

Watch Video Solution

sin(sin− 1 + cos − 1 x) = 1
1

5

https://dl.doubtnut.com/l/_ykpx7LXBgVMl
https://dl.doubtnut.com/l/_wY3xGObwC5ju
https://dl.doubtnut.com/l/_M0IaNaDWiXCA


Assignment Most Important Questions For Practice

Section V

7. Solve the following equations 

Watch Video Solution

tan− 1 + tan− 1 = , √6 > x > 0
x

2
x

3

π

4

1. Prove that

Watch Video Solution

tan− 1 x + tan− 1 = tan− 1( ), |x| < 1
2x

1 − x2

3x − x3

1 − 3x2

https://dl.doubtnut.com/l/_UwmTB4gAXuLo
https://dl.doubtnut.com/l/_3TexfEbwM9OH


2. Prove that

Watch Video Solution

cot − 1( ) = + cos − 1 x
√1 + x − √1 − x

√1 + x + √1 − x

π

4

1

2

3. Write the following in the simplest form 

Watch Video Solution

tan− 1( )
cos x + sin x

cos x − sin x

4. Write the following in the simplest form 

cot − 1(√1 + x2 − x)

https://dl.doubtnut.com/l/_9lvKA3Kd80XO
https://dl.doubtnut.com/l/_peZfTb4bf20Z
https://dl.doubtnut.com/l/_wmcI2JUGxvjD


Watch Video Solution

5. Write the following in the simplest form 

Watch Video Solution

cot − 1(√1 + x2 + x)

6. Write the following in the simplest form 

Watch Video Solution

sin− 1(2x√1 − x2)

https://dl.doubtnut.com/l/_wmcI2JUGxvjD
https://dl.doubtnut.com/l/_CK3wUkmMmhbK
https://dl.doubtnut.com/l/_6BWmUdT9xI66


Previous Years Board S Questions For Practice Mcq

7. Write the following function in the simplest form :

Watch Video Solution

tan− 1( ), |x| > 1
1

√x2 − 1

8. Write the following in the simplest form 

Watch Video Solution

cot − 1( )
1

√x2 − 1

https://dl.doubtnut.com/l/_4QxBE5qGwziR
https://dl.doubtnut.com/l/_1F7ZwDCCYaKG


1. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1 x + cot − 1 x

π

2

π

−
π

2

−π

2. The value of  issec− 1 x + cos ec− 1x

https://dl.doubtnut.com/l/_CGsBaPMUc0fQ
https://dl.doubtnut.com/l/_z4N8hAbv5t83


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

−
π

2

−π

3. The value of  is equal to :

A. 1

B. 0

cot(tan− 1 x + cot − 1 x)

https://dl.doubtnut.com/l/_z4N8hAbv5t83
https://dl.doubtnut.com/l/_DtogGoWrsALA


C. 

D. 

Answer: B

Watch Video Solution

−
π

2

π

2

4. The value of  is equal

to :

A. 1

B. 0

C. 

cos ec(sec− 1 x + cos ec− 1x)

−
π

2

https://dl.doubtnut.com/l/_DtogGoWrsALA
https://dl.doubtnut.com/l/_LLyvJkNTZJOV


D. 

Answer: A

Watch Video Solution

π

2

5.  is equal to :

A. 

B. 0

C. 2

D. 

Answer: D

tan− 1(1) − cot − 1( − 1)

π

−
π

2

https://dl.doubtnut.com/l/_LLyvJkNTZJOV
https://dl.doubtnut.com/l/_Q2S4pH4TXIbp


Watch Video Solution

6.  is equal to :

A. 

B. 0

C. 

D. 

Answer: D

Watch Video Solution

tan− 1( ) − cot − 1( − )
1

√3

1

√3

π

2

√3

−
π

2

https://dl.doubtnut.com/l/_Q2S4pH4TXIbp
https://dl.doubtnut.com/l/_sv0EG1KS5UaN
https://dl.doubtnut.com/l/_etIHPZ9PlU9P


7. Range of the function  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = sin− 1 x

[0, ]
π

2

(0, )
π

2

( − , 0)
π

2

[ − , ]
π

2

π

2

8. Principal value of  is :

A. 

sin− 1( − )
1

2

−
π

6

https://dl.doubtnut.com/l/_etIHPZ9PlU9P
https://dl.doubtnut.com/l/_cLU9GDaLOowJ


B. 

C. 

D. 

Answer: D

Watch Video Solution

π

6

π

3

−
π

3

9. If , then value of x

equals :

A. 

B. 

sin− 1(x) + cos − 1( ) =
1

4

π

2

1

4

1

5

https://dl.doubtnut.com/l/_cLU9GDaLOowJ
https://dl.doubtnut.com/l/_9oqtN3nXpDpi


C. 

D. 0

Answer: A

Watch Video Solution

1

9

10. Find the value of 

A. 

B. 

C. 

D. 

sin− 1(sin )
2π

3

π

2

π

3

π

4

π

6

https://dl.doubtnut.com/l/_9oqtN3nXpDpi
https://dl.doubtnut.com/l/_xsNfE2vNAmGy


Answer: B

Watch Video Solution

11. Find the value of 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

sin− 1(sin )
2π

3

−
2π

3

2π

3

π

3

https://dl.doubtnut.com/l/_xsNfE2vNAmGy
https://dl.doubtnut.com/l/_b1dqFKBIGULT


12. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = sin− 11

2

2

11

1

2
24

25

13. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = cos − 12

11
7
24

1

2

3

5

14. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = tan− 11

4

2

9

1
2

4

3

https://dl.doubtnut.com/l/_b1dqFKBIGULT
https://dl.doubtnut.com/l/_XS2y6KrUxSbe
https://dl.doubtnut.com/l/_0GrGk40FWeJv
https://dl.doubtnut.com/l/_E7GFQAOcmSRc


15. Prove that 

Watch Video Solution

sin− 1 + sin− 1 =
3

5
4
5

π

2

16. Prove that 

Watch Video Solution

cos − 1 + cos − 1 =
3

5

4

5

π

2

17. Prove that 

Watch Video Solution

tan− 1( ) = cos − 1 x
√1 − x2

1 + x

1

2

https://dl.doubtnut.com/l/_ibOq2JEuEyOB
https://dl.doubtnut.com/l/_TY8hvqnZAOav
https://dl.doubtnut.com/l/_DSmfGJYPzl4X


18. Prove that 

Watch Video Solution

cos − 1 + sin− 1 = sin− 112

13

3

5

56

65

19. Show that 

Watch Video Solution

sin− 1 − sin− 1 = cos − 13

5

8

17

84
85

20. Find the value of 

Watch Video Solution

tan(sin− 1 − cot − 1 )
3

5

3

2

https://dl.doubtnut.com/l/_4k6ROe887gQL
https://dl.doubtnut.com/l/_tmfEnrubISQw
https://dl.doubtnut.com/l/_jqT8LFv5iMtq


21. Find the value of 

Watch Video Solution

tan(sin− 1 + cot − 1 )
3

5

3

2

22. Prove that

Watch Video Solution

3 cos − 1 x = cos − 1(4x3 − 3x), x ∈ [ , 1]
1

2

23. Write  in simplest form.

Watch Video Solution

tan− 1( )
cos x − sin x

cos x + sin x

https://dl.doubtnut.com/l/_4ADa7vaHT8Wl
https://dl.doubtnut.com/l/_OatEKCdlTQnr
https://dl.doubtnut.com/l/_l6dfUbMgowY5
https://dl.doubtnut.com/l/_zFp4Lel9CJdK


24. Find the value of 

Watch Video Solution

tan− 1(tan )
3π

4

25. Find the value of 

Watch Video Solution

cos − 1(cos )
13π

6

26. Prove that 

Watch Video Solution

2 tan− 1 + tan− 1 =
1

3

1

7

π

4

https://dl.doubtnut.com/l/_zFp4Lel9CJdK
https://dl.doubtnut.com/l/_DYHO1AuC2MlL
https://dl.doubtnut.com/l/_m9jHgCohiSQf


27. Prove that 

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11

5

1

8
4

7

28. Show that 

Watch Video Solution

sin− 1 − sin− 1 = cos − 13

5

8

17

84

85

29. Solve:

Watch Video Solution

tan− 1(x + 3) + tan− 1(x − 3) = tan− 1( ), x > 0
4

39

https://dl.doubtnut.com/l/_fNXYuPk5UUXd
https://dl.doubtnut.com/l/_1bD5ZBzMQrzk
https://dl.doubtnut.com/l/_chCkCFq36kyc
https://dl.doubtnut.com/l/_JeFEXWUzP8d9


30. Solve:

Watch Video Solution

tan− 1(x + 4) + tan− 1(x − 4) = tan− 1( ), x > 0
4

67

31. Prove that 

Watch Video Solution

tan− 1 + tan− 1 = tan− 11
2

2
11

3

4

32. Express  in

the simplest form.

Watch Video Solution

tan− 1( ), − < x <
cos x

1 − sin x

π

2
π

2

https://dl.doubtnut.com/l/_JeFEXWUzP8d9
https://dl.doubtnut.com/l/_KGukyqWGCOUP
https://dl.doubtnut.com/l/_g8hyW0Y1enTS


33. Prove that 

Watch Video Solution

2 tan− 1 + tan− 1 = tan− 11

5

1

4

32

43

34. Prove that 

Watch Video Solution

sin− 1 + sin− 1 = cos − 13

5

8

17

36

85

35. Prove that 

Watch Video Solution

sin− 1 + sin− 1 = cos − 14
5

5

13

16

65

https://dl.doubtnut.com/l/_g8hyW0Y1enTS
https://dl.doubtnut.com/l/_A70ulkYKzeXN
https://dl.doubtnut.com/l/_ilDUgAqz43xi
https://dl.doubtnut.com/l/_tuEgsU1FouyI


36. Prove that

Watch Video Solution

sin− 1(2x. √1 − x2) = 2 cos − 1 x, ≤ x < 1
1

√2

37. Write , x < pi in the

simplest form.

Watch Video Solution

tan− 1(√ )
1 − cos x

1 + cos x

38. Prove that

cot − 1( ) = + cos − 1 x
√1 + x − √1 − x

√1 + x + √1 − x

π

4

1

2

https://dl.doubtnut.com/l/_BkvOnAfnAWQy
https://dl.doubtnut.com/l/_Yp592xltyZ68
https://dl.doubtnut.com/l/_j5fCTyQe9a4h


Watch Video Solution

39. Solve the Equation :

Watch Video Solution

tan− 1( ) + tan− 1( ) =
x − 1

x + 2

2x − 1

2x + 1

tan− 1 23

36

40. If , find the value of

x.

Watch Video Solution

sin(sin− 1 + cos − 1 x) = 1
1

5

https://dl.doubtnut.com/l/_j5fCTyQe9a4h
https://dl.doubtnut.com/l/_TZPgI7JBQh8C
https://dl.doubtnut.com/l/_HtSn6VzUCAVx


41. Write  in simplest

form.

Watch Video Solution

tan− 1( ), |x| > 1
1

√x2 − 1

42. Simplify  if 

Watch Video Solution

tan− 1[ ]
a cos x − b sin x

b cos x + a sin x
tan x ≻ 1

a

b

43. Write the

. in the

simplest form.

tan− 1( ), a > 0, − ≤ x ≤
3a2x − x3

a3 − 3ax2

a

3
a

3

https://dl.doubtnut.com/l/_lIo9apQltGup
https://dl.doubtnut.com/l/_dPZZADGqtUZJ
https://dl.doubtnut.com/l/_5qzmHA211YwR


Watch Video Solution

44. Prove that :

Watch Video Solution

cot − 1[ ] = , x ∈ (0, )
√1 + sin x + √1 − sin x

√1 + sin x + √1 − sin x

x

2

π

4

45. Prove that 

Watch Video Solution

tan− 1 = sin− 1 + cos − 163

16

5

13

3

5

https://dl.doubtnut.com/l/_5qzmHA211YwR
https://dl.doubtnut.com/l/_MH2rVuL5YIZX
https://dl.doubtnut.com/l/_BG4oIojFEPvZ


46. Solve

Watch Video Solution

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1 8

31

47. Prove that .

Watch Video Solution

tan− 1 + tan− 1 = tan− 12

11
7
24

1

2

48. Prove that .

Watch Video Solution

tan− 1 + tan− 1 = tan− 12

11
7
24

1

2

https://dl.doubtnut.com/l/_wwqK80i8hEve
https://dl.doubtnut.com/l/_FZS9IYkwtge3
https://dl.doubtnut.com/l/_GUDYT1gnhfU5

